» Problem 10.2-6

(a) (The Knight’s Tour) Is it possible for a knight to tour a chessboard visiting every

square exactly once and returning to its initial square?

(b) Is the sort of tour described in (a) possible on a 7 x 7 “chessboard”?

Solution. (a) Yes, it is possible. Here is a Hamiltonian cycle for the knight.
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(b) Such a tour is impossible because a 7 x 7 board has an odd number of square. A
knight’s tour corresponds to an alternating set of distinct red and black squares. Since
we require that the knight return to the square from which he left, the number of squares

of the tour must be even. O



